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Nondisjunction and Karyotype Notes
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Background:   Humans have ________ total chromosomes, made up of ________ chromosome pairs.


Chromosome pairs 1-22 are called _________________________, while chromosome pair 23 is called our ________________________.


Sex chromosomes of males: __________	


Sex chromosomes of females: ____________





Karyotype:  a pattern or picture of chromosomes from one cell grouped into pairs and organized by size.
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NONDISJUNCTION- chromosomes do not separate properly after Meiosis I.


Result: one daughter cell gets more chromosomes, and the other gets Less chromosomes


Nondisjunction causes: 


 1. Down Syndrome aka Trisomy 21- 3 copies of chromosome 21


 2. Turner’s Syndrome in females- only inherit 1 X chromosome (XO)


3. Klinefelter’s Syndrome in males- inherits 2 X’s and 1 Y chromosome (XXY)
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Trisomy 21





Turner’s Syndrome (X)
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